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QUESTION 1

When creating a data aggregate, what is the default minimum number of disks for RAID4 and RAID-DP?

A. 5 for RAID4 and 9 for RAID-DP

B. 4 for RAID4 and 7 for RAID-DP

C. 3 for RAID4 and 5 for RAID-DP

D. 2 for RAID4 and 3 for RAID-DP

Correct Answer: D

If a root volume exists as a traditional volume, it can be a stand-alone RAID4 or RAID-DP volume. RAID4 requires a
minimum of two disks and can protect against single-disk failures. RAID-DP, the default RAID type, requires a minimum
of three disks and can protect against double-disk failures. Using RAID-DP for the root aggregate is recommended.

Reference: https://library.netapp.com/ecmdocs/ECMP1196986/html/GUID-306BBOAE-
99CF-4C98-AB5FC23A77FA4B6A.html

QUESTION 2

Which three SMB versions do Data ONTAP Cluster Mode 8.1 and later support? (Choose three)
A. SMB 4.0

B. SMB 3.0

C.SMB 2.1

D. SMB 2.0

E.SMB 1.0

Correct Answer: CDE

Reference: http://hippodata.blogspot.com/2013/05/enhancements-of-nfs-and-smb- netapp.html (see smb 2.0 and 2.1)

QUESTION 3

Which boot argument toggles between 7-Mode and Cluster-Mode configurations?
A. bootarg.init.boot_gx

B. bootarg.init.boot_7-mode

C. bootarg.init.boot_cluster-mode

D. bootarg.init.boot_clustered

Correct Answer: D
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http://www.ontap8.com/how-to-convert-a-data-ontap-node-from-one-operating-mode-to- the-other/

QUESTION 4

An administrator is working with an application group to resolve a performance problem within the environment. They
are experiencing slow read speeds and are trying to determine what could be done to improve performance.

What would you add to the system to improve performance?
A. NVRAM

B. FlashCache

C. RAM

D. processors

Correct Answer: D

Reference: https://technet.microsoft.com/en-us/library/cc720418(v=ws.10).aspx

QUESTION 5
A customer creates four broadcast domains with the following ports included for node cl-01:
bcastl — eOc bcast2 — e0d bcast3 — eOe bcast4 — eOf

A customer creates a LIF and specifies a home port of cl-01:e0f. After LIF creation, the administrator modifies the home
port to use cl-01:e0c.

Which broadcast domain is the LIF using now?
A. bcast4
B. bcast2
C. bcastl
D. bcast3

Correct Answer: C
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